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DI3(5HEMT) 79.2 kg (0.0)

D16 (5 HZEMT) 185.0 kg (185.0)

DI9(5HEMT) 111.0 kg (40.8)

= H(5HEMI) 375.2 kg (225.8)
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N[ 8] Be [Af[epEg[1 A2 VEEE 2 | BE
(mm) | (&)| (kg/m) (kg) (kg)
L 3800 J P21 | D19 2,620 | 8 | 2.25 | 5.89 72 | L
= B P22 | D19 1,900 | 26 | 2.25 | 4.275 | 111.2 | —
P23 | D19 1,400 | 6 | 2.25 | 3.150 8.9 | —
F21 | D16 2,160 | 34 | 1.560 | 3.370 | 114.6 | L
@ D13 L=1420 N=1 F22 [ D13] 3,800 | 14 | 0.995 | 3.781 52.9 | —
B21 | D19] 1,700 | 32 | 2.25 | 3.825 | 122.4 | J
B22 | D13] 3,800 | 4 | 0.995 | 3.781 5.1 | —
H21 | D16] 3,220 | 17 | 1.56 | 5.023 85.4 | | | FHE
1420 H22 | D13] 3,800 | 13 | 0.995 | 3.781 97 | —
H23 | D3] 1,420 | 1 | 0.995 | 1.413 14 | —
H24 | D13] 3,820 | 1 | 0.995 | 3.801 3.8 | —
@ D13 L=3820 N=1 IGBEERTD 224 ke 0.0
DI6(55EMI) _ 200.0 kg (200.0)
DI9(>HEMT)  299.7 kg (169.6)
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@ D13 1=2800 N=14
L 2800

y
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y

HHEER L=3. 00m4 1= Y
N[ E] BE [Ag[EnER 1AL VEEE B | BE

(mm) | (K)| (kg/m) (kg) (kg)
P31|D19] 2,620 6 2.25 5.895 35.4 L
P32 [ D19 1,900 | 24 2.25 4.275 102. 6 —
F31 | D16] 2,260 | 26 1.560 | 3.526 91.7 [
F32|D13] 2,800 | 14 0.995 | 2.786 39.0 —
B31 [ D19 1,700 | 24 2.25 3.825 91.8 _/
B32 | D13 2, 800 4 0.995 2.786 11.1 —
H31 | D16] 3,390 | 13 1.56 5.288 68.7 L TR
H32 | D13 2,800 | 14 0.995 2.786 39.0 —
H33 | D13 2,810 1 0.995 2.796 2.8 —

DI3(5>HEMT) 91.9 ke (0.0)

D16 (5> HEMI) 160.4 kg (160.4)

D19 (5 HEMT) 229.8 kg (127.2)

a H(SHEMT) 482.1 kg (287.6)

& WEmEEE
E % WEHHEES

B | XBRWE REERE FRTE
R =




1247. 57

260

6760

7360
6400

(FTE A (B@EAD (e hR L E{A)

600
490,

110

~
Lo ~
© . © Lo
™ ~ I3} . ©
. <+ . ~ (9]
(] N (&) < .
om — o N 8
o
4000 s
100|150 1402503500 150 100 —
3
o
i
g g 2
e o — s = g L |
gl ——— g
1 .
— g = qe
i B
3| 8
— = gls .
i S| ® 100_| 15 14@250=3500 50] 100
2 |~ <t >
g g 4000
3 S
- o
= = (ERR T~ E )
2 2
- 8 g
= 2 N B ~
L _ sl 3| o g - o
3 |’ S ~ 3
< .
N (@]
— poal
[ — o (=3
8 8
g = <
g g 8
3
— - &
i
g gl g
g Lo =t
2 g K Se—
N RS 3| § 5 01\
1 y g
g s 10
E 2 B @ wamgan 12
100 | {5 146250=3500 150] 100 E 4 s HFHERE
500 | 1000 1000 1000 _| 500 2a1pot200 280125-3500 1ob] 100 4000
‘ e ‘ 100 o - 2 W | XBRWEHEERE) HFRTE

B
A
2]
Fll




150,

(2 R A80)
500 2040
119 | 100

0

Jo
KR

100

7000

6400

110

=3000

12@250;

50

2800

3600

600

380,

110

100

@250=1250 _1/0

1100

7360

150

(& 280

500,

2040

110, | 100

100

6760

110

=3250

13@250:

160

3160

600

380,

3600

110

100

@250=1250 _1(0f

1100

D19 L=2620 N=8

2390

N
D19 L=1900 N=32

1900

D19 L=1400 N=2

1400

380

@ D13 L=3800 N=16

.

@ D19 L=1700 N
523

1308

D13 L=3800 N=4

/409

290]

y

6 7\79

D16 L=143480 N=17

3059~3401

153230

=3800 N=14
BHEER L=4. 00m4 1= Y
N[ Z| B |AR(BEHAERE|1ALVEEE & | BE
mm | @& | ke/m | ke (ke)
3800 J P41 [D19| 2,620 8 2.25 5.895 47.2 L
- - P42 | D19| 1,900 | 32 2.25 4.275 136.8 —
P43 [ D19 1,400 | 2 2.25 3.150 6.3 —
F41 [ D16 2,360 | 34 1. 560 3.682 125.2 [
D13 L=1680 N=1 F42 [ D13[ 3,800 | 16 | 0.995 | 3.781 60.5 | —
B41 [ D19 1,700 | 32 2.25 3.825 122.4 _/
B42 | D13{ 3,800 [ 4 0.995 3.781 15.1 —
H41 [ D16 3,480 | 17 1.56 5.429 92.3 L EHR
1680 H42 | D13 3,800 | 14 0.995 3.781 52.9 —
H43 | D13 1, 680 1 0.995 1.672 1.7 —
H44 | D13 3, 820 1 0.995 3.801 3.8 —
@ D13 L=3820 N=1 MGHEEND 0 ke 00
D16 (5 H&EMT) 217.5 kg (217.5)
DI9 (S HEMT) 312.7 kg (169.6)
= S (5HEMI) 664.2 kg (387.1)
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6360

| N[ ] Re [A#[BHEE12LYBEE & | BE
L (mm) | (&)| (kg/m) (kg) (kg)
2800 J L 2800 J P51 D19 2,620 | 6 | 2.25 | 589 35.4 | L
500 1780 h - - - P52 [D19] 1,900 [ 18 [ 2.25 4.275 7.0 | —
500 1780 50 |10 | 100 s P53 | D19 1,400 | 6 | 2.25 | 3.150 189 | —
& F51 [ D16 2,260 | 26 | 1.560 | 3.528 9.7 | L
% Ui‘ 100 4 @ D16 L=1650 N=24 @ D13 L=780 N=1 F52 [D13] 2,800 | 14 | 0.995 | 2.786 | 39.0 | —
B51 | D16 1,650 | 24 | 1.560 | 2.574 61.8 | /
528 B52 | D13 2,800 | 14 | 0.995 | 2.786 39.0 | —
s H51 | D16 3,200 | 13 | 1.56 | 4.992 649 | L | TR
s L = E— 780 H52 | D13 2,800 | 13 | 0.995 | 2.786 362 | —
. ‘ M H53 [ D13| 780 | 1 | 0.995 | 0.776 0.8 | —
L L g H54 | D13 2,820 | 1 | 0.995 | 2.806 28 | —
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DI3(5HEMI)  117.8 ke
DI6(5HEMI)  218.4 kg (218.4)
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BHEEX L=2. 00m4 1= Y
N[ & BE [AR[EnER1ALYEEE B | BE

(mm) | (K)| (kg/m) (kg) (kg)
P61 (D19 3,020 | 4 2.25 6. 795 21.2 L
P62 | D19{ 1,900 [ 10 2.25 4.275 42.8 —
P63 [ D19 1,400 | 2 2.25 3.150 6.3 —
F61 [ D16 | 2,860 | 18 1.560 | 4.462 80.3 L
F62 | D13| 1,800 | 14 0.995 1.791 25.1 —
B61 | D16 | 1,550 [ 16 1. 560 2.418 38.7 _/
B62 | D13 | 1,800 | 14 0.995 1.791 25.1 —
H61 | D16 | 3, 020 9 1.56 4. 711 42.4 L EHER
H62 | D13 | 1,800 [ 12 0.995 1.791 21.5 —
H63 [ D13 [ 1,120 | 1 0.995 1.114 1.1 —
H64 | D13 ] 1,810 | 1 0.995 1.801 1.8 —

DI3(5HEMT) 746 kg (0.0)

D16 (5 HZEMT) 161.4 kg (161.4)

DI9(5HEMT) 76.3 kg (21.2)

= B(OSHEMTI) 312.3 kg (188.6)
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AEERG 7 X 7 7 )L M
A=T2. Tn2 BETHEE (BET) ERE
20mEm | A3 0m IE | ERT - SEL
No | I S1 RIA S1 RIA S1 RIA S1 RIA S1 RIA
1 20 30.0 11.5 41.5 4.15
| 2 40 60.0 17.7 71.7 1.7
3 60 60.0 8.3 68.3 6.83
| 4 80 60.0 16.8 76.8 7.68
5 100 60.0 14.2 74.2 7.42
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No| & | S |RIA | ST |RIA | SI |RIA | 81 |RIA s RIA \
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62| 1240| 21.0 1.9 22.9 2.29 AN
63| 1260 | 44.8 9.3 54.1 5. 41 \
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S |
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= = 20m X AHR3. 0m HiiE FRlAT - EEL B B
- -J; No | Al= S1 RIA S1 RIA S1 RIA N RIA S1 RIA
a 70 1400 | 55.3 55.3 5.53
_—
2 n 1420 25.1 25.1 2.51
2y N\ 72 1440 | 44.9 1.8 52.7 5.27
\\\\\\\ //// N 13 1460 | 34.6 21.2 55.8 5.58
-/////////////////////////{////////////////// /
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BEETEE (BBT) mEE * &
20m XS A#3.0m NS FEET - B L 5 B
No | & | St RIA S1 RIA S1 RIA S1 RIA St RIA
76| 1520 43.9 43.9 4.39
77| 1540 | 50.6 50. 6 5.06
o 78| 1560 | 60.0 60. 0 6. 00
o0
© 79| 1580 | 50.7 5.4 56. 1 5. 61
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No | B& | st RIA | st RIA | st RIA | 1 RIA St RIA
82| 1640 | 57.2 57.2 5.72
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89| 1780 | 40.5 3.7 4.2 4.42
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